Name:

UNIT 7

Date:
LESSON 3

AIM: HOW DO WE WRITE THE EQUATIONS OF LINES IN SLOPE-INTERCEPT FORM?

Do Now: For each of the following equations, rearrange into y = mx + b form and identify the slope and y-intercept of

the line.
(@) y+2x=7 (b) 2x+3y =12 (c) x—6y=7
Equation of a Line in Slope-Intercept Form
What is the relationship? What is the relationship?
inea:y =l ineb: v_Ly_ inec:v_2 ined: vo_Sx_
Llnea.y_2x+4 Llneb.y_zx 5} Llnec.y_3x+1 Lined: y= 2X 3
Line cand line d are because

Line a and line b are

because

Example 1: What is an equation of a line that is perpendicular to the line whose equation is Zy+ 3x =17

5
1) y= X+

L

2)y= §x+2

2
3)y=—§x+1

3 1
4)y=—§x+§




Example 2: Given MV shown below, with A#(-§, 17 and #7{3,—5), what is an equation of the line that passes
through point (6, 17 and is parallel to AP y

1)y=—%x+5

2)y=—%x—3 \

3)y=5x+7

Point — Slope form of a Linear Equation

Y=Y :m(x—xl)

y—ylzm(x—xl)

Example 3: Which equation represents a line parallel to the line whose equation is -2z + 3y =-4?

1)y-1=-3G-1)
2)y-3=20-1)
3) y=gx—4

2
4) y=—Sx+1
)y 3




Example 4: Line m and point P are shown in the graph below. Which equation represents the line passing
through P and parallel to line m? ' m

1) y-3=2x+2)

2) y+2=2(x-73)

3)y—3=—%(x+2}

4)y+2=—%(x—3]

. . . . . . 2
Example 5: Write an equation of a line that is perpendicular to the line y = 35+ 5 and that passes through the

point (0,47,

Example 6: Find an equation of the line passing through the point {%,4) and parallel to the line whose equation
isdx+y=73.



Example 7: Two lines are represented by the equations x+ 2y =4 and 4y— 2x = 12. Determine whether these
lines are parallel, perpendicular, or neither. Explain your answer.

Practice NYTS (Now You Try Some!)

1. Write an equation of the line that passes through the point {#,—51 and is parallel to the line whose equation
is 2x—3y=11.

2. What is an equation of the line that passes through the point (6, &) and is perpendicular to a line with

. 3
equation y = S+ 57



3. Which equation represents a line that is parallel to the line whose equation is y = SE 3 and passes

through the point {1, 2)?

3
1) y=-1=—(x-2
)y 2( )
2
2) y—2=——(x-1
)y 3( )
3
3) y—-2=—(x-1
)y 2( )

2
) y—1=-S(x-2
)Y 3( )

4. What is an equation of the line that passes through the point (2,4} and is perpendicular to the line whose
equation is 3y = tx+ 37?

1)y=—%x+5

2)y=—éx+4

3)y=12x—4

4) y=2x

5. What is an equation of the line that passes through the point (-2, 3} and is parallel to the line whose

L 3
equation is ¥ = EX—‘q?

1) y= _—32;{

2) ¥= _—3:2x+%
3)¥= %x

4) y= E:Hﬁ

2



Name: Date:
UNIT 7 LESSON 3 HOMEWORK

1. On the grid below, the ling, s, is graphed as well as the point (2, 4). Write the equation of a line parallel to line s that
passes through the point (2,4). y

4

2. What is the slope of a line perpendicular to the line whose equation is 3x— 7Ty + 14 = 0?

3
1) =
) 2
3) 3

1
4) 3

3. Find an equation of the line passing through the point {, 51 and perpendicular to the line whose equation is
2y +3x =10,

4. What is the equation of a line passing through the point (i, 11 and parallel to the line whose equation is 3x = 2y +4?



